JS≣

**CURRENCY DERIVATIVES** 

**CURRENCY FUTURES AND OPTIONS MATCHED TRADES** 

REPORT FOR 16/08/2016

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:00:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	8,370	8,370,000	13.3799		111,989,763.00 Member	Buy
8:00:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	9,077	9,077,000	13.3799		(121,449,352.30) Member	Sell
9:03:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3662		(267,324.00) Member	Sell
9:04:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	27	27,000	13.3662		(360,887.40) Member	Sell
9:04:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	27	27,000	13.3662		360,887.40 Client	Buy
9:04:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.3662		(400,986.00) Member	Sell
9:04:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3662		668,310.00 Member	Buy
9:10:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3674		(1,336,740.00) Member	Sell
9:10:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.3674		1,336,740.00 Member	Buy
9:13:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3,000	3,000,000	13.3670		40,101,000.00 Client	Buy
9:13:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.3388		(2,000,820.00) Client	Sell
9:13:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.3388		2,000,820.00 Member	Buy
9:13:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3,000	3,000,000	13.3670		(40,101,000.00) Member	Sell
9:13:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3495		(333,737.50) Member	Sell
9:13:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3495		333,737.50 Client	Buy
9:13:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.3674		(1,002,555.00) Member	Sell
9:13:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.3674		1,002,555.00 Client	Buy
9:15:28	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.6049		(54,419.60) Member	Sell

Page 1 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:15:28	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.6049		54,419.60 Client	Buy
9:16:48	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3662		668,310.00 Client	Buy
9:26:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.3871		(4,016,130.00) Member	Sell
9:26:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.3871		4,016,130.00 Member	Buy
9:31:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3601		(66,800.50) Client	Sell
9:31:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3601		66,800.50 Client	Buy
9:31:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3600		(66,800.00) Client	Sell
9:31:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3600		66,800.00 Member	Buy
9:36:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	318	318,000	13.3799		4,254,808.20 Member	Buy
9:36:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	389	389,000	13.3799		5,204,781.10 Member	Buy
9:36:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	8,370	8,370,000	13.3799		111,989,763.00 Client	Buy
9:36:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	389	389,000	13.3799		5,204,781.10 Client	Buy
9:36:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	318	318,000	13.3799		4,254,808.20 Client	Buy
9:40:43	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.6000		340,000.00 Client	Buy
9:40:43	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.6000		(340,000.00) Member	Sell
9:40:43	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.6000		(408,000.00) Member	Sell
9:40:43	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.6000		408,000.00 Client	Buy
9:40:43	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.5975		(679,875.00) Member	Sell
9:40:43	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.5975		679,875.00 Client	Buy
9:44:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.3500		53,400.00 Client	Buy
9:44:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.3500		(53,400.00) Client	Sell
9:51:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.3695		(133,695.00) Member	Sell
9:51:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.3695		133,695.00 Client	Buy
9:54:14	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.5900		(679,500.00) Member	Sell
9:54:14	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.5900		679,500.00 Client	Buy
9:56:41	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.8018		(276,036.00) Member	Sell
9:56:41	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.8018		276,036.00 Client	Buy
9:58:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3330		266,660.00 Member	Buy
9:58:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.3330		(266,660.00) Member	Sell
10:01:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3308		(2,666,160.00) Client	Sell
10:01:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3308		2,666,160.00 Member	Buy
10:01:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3308		2,666,160.00 Member	Buy
10:01:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3308		(2,666,160.00) Client	Sell
10:01:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3308		2,666,160.00 Member	Buy
10:01:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.3308		(2,666,160.00) Client	Sell
10:01:30	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.3288		(13,328.80) Client	Sell
10:01:30	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.3288		13,328.80 Client	Buy
10:01:34	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	80	80,000	13.3288		(1,066,304.00) Client	Sell
10:01:34	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	80	80,000	13.3288		1,066,304.00 Member	Buy
10:01:51	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	119	119,000	13.3288		1,586,127.20 Member	Buy
10:01:51	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	119	119,000	13.3288		(1,586,127.20) Client	Sell
10:02:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.3424		(13,342.40) Member	Sell
10:02:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.3424		13,342.40 Client	Buy

Page 2 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ S	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:10:30	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3507		267,014.00 Member	Buy
10:10:30	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3507		(267,014.00) Member	Sell
10:17:19	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.5856		(20,378,400.00) Member	Sell
10:17:19	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.5875		6,793,750.00 Member	Buy
10:18:44	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.5900		6,795,000.00 Member	Buy
10:22:28	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.5795		6,789,750.00 Member	Buy
10:23:27	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.5806		20,370,900.00 Member	Buy
10:28:11	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.5756		(20,363,400.00) Client	Sell
10:28:11	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	13.5756		20,363,400.00 Member	Buy
10:36:30	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	13.3585		(40,075,500.00) Member	Sell
10:36:30	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	13.3585		40,075,500.00 Client	Buy
10:38:38	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.6095		(1,360,950.00) Member	Sell
10:38:38	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.6095		1,360,950.00 Client	Buy
10:56:46	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	13.6177		40,853,100.00 Client	Buy
10:56:46	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	13.6177		(40,853,100.00) Member	Sell
11:04:04	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.6200		68,100.00 Client	Buy
11:04:04	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.6200		(68,100.00) Member	Sell
11:37:49	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.5900		(40,770.00) Member	Sell
11:37:49	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.5900		40,770.00 Client	Buy
11:39:49	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.6045		(6,802,250.00) Member	Sell
11:39:49	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.6045		6,802,250.00 Client	Buy
12:06:16	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	3,300	3,300,000	0.0001		330.00 Member	Buy
12:06:16	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	3,300	3,300,000	0.0001		(330.00) Member	Sell
12:17:38	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	69	69,000	13.3475		(920,977.50) Member	Sell
12:17:38	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	69	69,000	13.3475		920,977.50 Client	Buy
12:23:31	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3410		133,410.00 Client	Buy
12:23:31	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3410		(133,410.00) Member	Sell
12:24:04	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	69	69,000	13.3543		921,446.70 Member	Buy
12:27:22	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.3300		(26,660.00) Client	Sell
12:27:22	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.3300		26,660.00 Member	Buy
12:29:51	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3360		(133,360.00) Member	Sell
12:29:51	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3360		133,360.00 Member	Buy
12:30:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.3300		2,666,000.00 Member	Buy
12:30:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.3300		(2,666,000.00) Member	Sell
12:31:16	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3360		133,360.00 Client	Buy
12:32:15	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.3325		26,665.00 Client	Buy
12:32:34	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.3325		13,332.50 Member	Buy
12:33:47	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.3245		39,973.50 Member	Buy
12:33:47	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.3245		(39,973.50) Client	Sell
12:34:11	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	304	304,000	13.3545		(4,059,768.00) Member	Sell
12:34:11	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	304	304,000	13.3545		4,059,768.00 Member	Buy
12:55:33	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3350		(66,675.00) Member	Sell
12:55:33	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3350		66,675.00 Client	Buy

Page 3 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:03:50	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	304	304,000	13.3545		4,059,768.00 Client	Buy
13:08:32	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1,716	1,716,000	13.3382		22,888,351.20 Member	Buy
13:08:32	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	145	145,000	13.3382		(1,934,039.00) Member	Sell
13:08:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3287		66,643.50 Member	Buy
13:08:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3287		(66,643.50) Member	Sell
13:16:17	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3127		(3,993,810.00) Member	Sell
13:16:17	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.3127		3,993,810.00 Member	Buy
13:17:00	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	297	297,000	13.3134		3,954,079.80 Member	Buy
13:17:00	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	297	297,000	13.3134		(3,954,079.80) Member	Sell
13:17:02	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	103	103,000	13.3134		(1,371,280.20) Member	Sell
13:17:02	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	103	103,000	13.3134		1,371,280.20 Member	Buy
13:18:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.3213		3,330,325.00 Member	Buy
13:18:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.3213		(3,330,325.00) Client	Sell
13:18:34	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	63	63,000	13.7800		(868,140.00) Member	Sell
13:18:34	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	63	63,000	13.7800		868,140.00 Client	Buy
13:20:10	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3193		1,331,930.00 Member	Buy
13:20:10	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3193		(1,331,930.00) Client	Sell
13:21:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3184		665,920.00 Member	Buy
13:21:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3184		(665,920.00) Member	Sell
13:22:21	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	3,240	3,240,000	10.0500		32,562,000.00 Member	Buy
13:22:21	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	195	195,000	10.0500		(1,959,750.00) Member	Sell
13:22:26	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	3,240	3,240,000	10.0500		(32,562,000.00) Member	Sell
13:22:26	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	195	195,000	10.0500		1,959,750.00 Member	Buy
13:22:36	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	60	60,000	10.0500		603,000.00 Member	Buy
13:22:36	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	60	60,000	10.0500		(603,000.00) Client	Sell
13:22:42	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	60	60,000	10.0500		(603,000.00) Member	Sell
13:22:42	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	60	60,000	10.0500		603,000.00 Client	Buy
13:24:15	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3184		(665,920.00) Client	Sell
13:28:07	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3290		(133,290.00) Member	Sell
13:28:07	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.3290		133,290.00 Client	Buy
13:31:34	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.7870		(137,870.00) Member	Sell
13:31:34	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.7870		137,870.00 Client	Buy
13:35:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	180	180,000	13.3189		2,397,402.00 Member	Buy
13:35:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	180	180,000	13.3189		(2,397,402.00) Member	Sell
13:50:05	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3048		(6,652,400.00) Member	Sell
13:50:05	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3048		6,652,400.00 Member	Buy
13:56:21	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3101		(66,550.50) Member	Sell
13:56:21	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3101		66,550.50 Client	Buy
13:58:53	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3100		1,331,000.00 Member	Buy
13:58:53	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3100		(1,331,000.00) Member	Sell
14:19:52	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.3241		(333,102.50) Member	Sell
14:27:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3350		(666,750.00) Client	Sell
14:27:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.3350		666,750.00 Member	Buy

Page 4 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:30:37	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3142		66,571.00 Member	Buy
14:30:37	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3142		(66,571.00) Client	Sell
14:31:18	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7700		(68,850.00) Member	Sell
14:31:18	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7700		68,850.00 Client	Buy
14:34:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3386		(6,669,300.00) Member	Sell
14:34:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3386		6,669,300.00 Member	Buy
14:35:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3520		66,760.00 Client	Buy
14:35:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3520		(66,760.00) Member	Sell
14:37:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3374		666,870.00 Member	Buy
14:37:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3374		(666,870.00) Client	Sell
14:37:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.8446		41,533.80 Client	Buy
14:37:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.8446		(41,533.80) Member	Sell
14:38:34	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.8454		(41,536.20) Member	Sell
14:38:34	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.8454		41,536.20 Member	Buy
14:41:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.3729		(53,491.60) Member	Sell
14:41:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.3729		53,491.60 Client	Buy
14:42:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3674		668,370.00 Member	Buy
14:42:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3674		(668,370.00) Client	Sell
14:49:45	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3900		66,950.00 Client	Buy
14:49:45	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3900		(66,950.00) Client	Sell
14:57:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3239		(66,619.50) Client	Sell
14:57:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.3239		66,619.50 Member	Buy
14:58:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3303		666,515.00 Member	Buy
14:58:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.3303		(666,515.00) Client	Sell
14:59:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.3413		(533,652.00) Member	Sell
14:59:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.3413		533,652.00 Client	Buy
15:08:11	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3411		(333,527.50) Member	Sell
15:08:11	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.3411		333,527.50 Client	Buy
15:08:39	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.5623		2,034,345.00 Member	Buy
15:08:39	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.5623		(2,034,345.00) Member	Sell
15:08:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3270		6,663,500.00 Member	Buy
15:08:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.3270		(6,663,500.00) Member	Sell
15:09:16	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.5656		2,034,840.00 Member	Buy
15:09:16	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.5656		(2,034,840.00) Member	Sell
15:10:35	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.5915		(6,795,750.00) Member	Sell
15:10:35	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.5915		6,795,750.00 Member	Buy
15:10:35	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	295	295,000	13.3545		3,939,577.50 Member	Buy
15:10:35	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	295	295,000	13.3545		(3,939,577.50) Member	Sell
15:15:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.3875		133,875.00 Client	Buy
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	627	627,000	13.3382		(8,363,051.40) Client	Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	861	861,000	13.3382		(11,484,190.20) Member	Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	39	39,000	13.3382		(520,189.80) Client	Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	861	861,000	13.3382		(11,484,190.20) Client	Sell

Page 5 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	145	145,000	13.3382		(1,934,039.00) Client	Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	627	627,000	13.3382		(8,363,051.40) Member	Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	44	44,000	13.3382		(586,880.80) Client	Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	39	39,000	13.3382		(520,189.80) Member	Sell
15:16:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	44	44,000	13.3382		(586,880.80) Member	Sell
15:18:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.3650		10,023,750.00 Member	Buy
15:18:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3,500	3,500,000	13.3559		(46,745,650.00) Member	Sell
15:18:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3,095	3,095,000	13.3559		41,336,510.50 Member	Buy
15:19:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.3650		(10,023,750.00) Client	Sell
15:24:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3,000	3,000,000	13.4044		40,213,200.00 Client	Buy
15:24:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3,000	3,000,000	13.4044		(40,213,200.00) Member	Sell
15:25:48	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.6423		272,846.00 Member	Buy
15:25:48	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.6423		(272,846.00) Member	Sell
15:26:04	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4119		(1,341,190.00) Member	Sell
15:26:04	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4119		1,341,190.00 Client	Buy
15:28:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	405	405,000	13.3559		5,409,139.50 Client	Buy
15:28:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	405	405,000	13.3559		5,409,139.50 Member	Buy
15:28:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3,095	3,095,000	13.3559		41,336,510.50 Client	Buy
15:31:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4154		(4,024,620.00) Member	Sell
15:31:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4154		4,024,620.00 Client	Buy
15:31:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4291		(26,858.20) Member	Sell
15:31:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4371		(26,874.20) Member	Sell
15:31:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4371		26,874.20 Client	Buy
15:33:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4232		(335,580.00) Client	Sell
15:33:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4232		335,580.00 Member	Buy
15:33:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4020		4,020,600.00 Member	Buy
15:33:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.4020		(4,020,600.00) Member	Sell
15:34:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.4322		604,449.00 Member	Buy
15:34:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.4322		(604,449.00) Client	Sell
15:35:04	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4380		1,343,800.00 Member	Buy
15:35:04	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.4380		(1,343,800.00) Client	Sell
15:35:43	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	255	255,000	13.4571		(3,431,560.50) Member	Sell
15:35:43	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	255	255,000	13.4571		3,431,560.50 Member	Buy
15:36:04	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4467		(26,893.40) Client	Sell
15:36:04	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.4467		26,893.40 Member	Buy
15:37:42	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	13.4510		215,216.00 Client	Buy
15:37:42	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	13.4510		(215,216.00) Member	Sell
15:38:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.4600		(1,009,500.00) Client	Sell
15:38:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.4600		1,009,500.00 Member	Buy
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	C 17.72	1	1,000	348	348,000	10.0500		(3,497,400.00) Client	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	C 17.72	1	1,000	348	348,000	10.0500		(3,497,400.00) Member	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	C 17.72	1	1,000	195	195,000	10.0500		(1,959,750.00) Client	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	C 17.72	1	1,000	1,800	1,800,000	10.0500		(18,090,000.00) Client	Sell

Page 6 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	4	4,000	10.0500		(40,200.00) Member	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	72	72,000	10.0500		(723,600.00) Member	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	300	300,000	10.0500		(3,015,000.00) Member	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	1,800	1,800,000	10.0500		(18,090,000.00) Member	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	521	521,000	10.0500		(5,236,050.00) Member	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	4	4,000	10.0500		(40,200.00) Client	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	72	72,000	10.0500		(723,600.00) Client	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	300	300,000	10.0500		(3,015,000.00) Client	Sell
15:39:13	\$ / R 19/12/2016	Foreign Exchange Future	С	17.72	1	1,000	521	521,000	10.0500		(5,236,050.00) Client	Sell
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	300	300,000	10.0500		3,015,000.00 Client	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	4	4,000	10.0500		40,200.00 Member	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	72	72,000	10.0500		723,600.00 Member	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	300	300,000	10.0500		3,015,000.00 Member	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	1,800	1,800,000	10.0500		18,090,000.00 Member	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	348	348,000	10.0500		3,497,400.00 Member	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	521	521,000	10.0500		5,236,050.00 Member	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	72	72,000	10.0500		723,600.00 Client	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	521	521,000	10.0500		5,236,050.00 Client	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	195	195,000	10.0500		1,959,750.00 Client	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	4	4,000	10.0500		40,200.00 Client	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	1,800	1,800,000	10.0500		18,090,000.00 Client	Buy
15:40:14	\$ / R 19/12/2016	Foreign Exchange Future	С	20.16	1	1,000	348	348,000	10.0500		3,497,400.00 Client	Buy
15:44:26	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.4481		1,344,810.00 Member	Buy
15:44:26	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.4481		(1,344,810.00) Member	Sell
15:44:58	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.3674		1,336,740.00 Client	Buy
15:45:36	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.4481		(1,344,810.00) Client	Sell
15:52:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4625		26,925.00 Member	Buy
15:52:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4625		(26,925.00) Client	Sell
15:52:58	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.6951		6,847,550.00 Member	Buy
15:54:38	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	12	12,000	13.7050		164,460.00 Client	Buy
15:56:35	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2,023	2,023,000	13.4690		(27,247,787.00) Client	Sell
15:56:35	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2,023	2,023,000	13.4690		(27,247,787.00) Member	Sell
15:56:35	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2,023	2,023,000	13.4690		27,247,787.00 Member	Buy
15:56:35	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2,023	2,023,000	13.4690		27,247,787.00 Client	Buy
16:00:28	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.6785		6,839,250.00 Member	Buy
16:05:50	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.6732		1,367,320.00 Member	Buy
16:10:06	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.4020		4,020,600.00 Client	Buy
16:12:17	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	16	16,000	13.4321		214,913.60 Member	Buy
16:12:17	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	16	16,000	13.4321		(214,913.60) Client	Sell
16:13:42	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.6885		(13,688,500.00) Client	Sell
16:13:42	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.6885		13,688,500.00 Member	Buy
16:18:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.4521		(13,452.10) Client	Sell
16:18:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.4521		13,452.10 Member	Buy

Page 7 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:19:04	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	7	7,000	13.4595		(94,216.50) Member	Sell
16:19:04	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	7	7,000	13.4595		94,216.50 Client	Buy
16:25:02	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,112	1,112,000	13.6790		(15,211,048.00) Client	Sell
16:25:02	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,112	1,112,000	13.6790		15,211,048.00 Member	Buy
16:28:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3330		(266,660.00) Client	Sell
16:28:50	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.3507		(267,014.00) Client	Sell
16:30:38	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.6423		(272,846.00) Client	Sell
16:32:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.4634		134,634.00 Member	Buy
16:32:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.4634		(134,634.00) Client	Sell
16:35:14	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	234	234,000	13.4728		(3,152,635.20) Member	Sell
16:35:14	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	234	234,000	13.4728		3,152,635.20 Member	Buy
16:44:56	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.6875		(684,375.00) Client	Sell
16:44:56	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.6875		684,375.00 Member	Buy
16:47:51	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.6890		(684,450.00) Client	Sell
16:47:51	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.6890		684,450.00 Member	Buy
16:50:50	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4290		(26,858.00) Client	Sell
16:50:50	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.4290		26,858.00 Member	Buy
16:54:10	\$ / R 19/12/2016	Foreign Exchange Future	С	13.70	1	1,000	365	365,000	575.4000		(210,021,000.00) Member	Sell
16:54:10	\$ / R 19/12/2016	Foreign Exchange Future	С	13.70	1	1,000	365	365,000	575.4000		(210,021,000.00) Member	Sell
16:54:10	\$ / R 19/12/2016	Foreign Exchange Future	С	13.70	1	1,000	365	365,000	575.4000		210,021,000.00 Client	Buy
16:54:10	\$ / R 19/12/2016	Foreign Exchange Future	С	13.70	1	1,000	365	365,000	575.4000		210,021,000.00 Client	Buy
16:54:59	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.4200		53,680.00 Client	Buy
16:54:59	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.4200		(53,680.00) Client	Sell
16:57:13	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.6625		54,650.00 Member	Buy
16:57:13	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.6625		(54,650.00) Client	Sell
16:57:13	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.4298		(53,719.20) Member	Sell
16:57:13	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.4298		53,719.20 Client	Buy
16:57:54	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	71	71,000	13.6625		(970,037.50) Client	Sell
16:57:54	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	71	71,000	13.6625		970,037.50 Member	Buy
16:58:02	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.6836		(342,090.00) Member	Sell
16:58:02	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.6836		342,090.00 Member	Buy
16:58:19	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.6836		342,090.00 Client	Buy
16:59:57	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	12	12,000	13.4293		161,151.60 Client	Buy
16:59:57	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	12	12,000	13.4293		(161,151.60) Member	Sell
17:17:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.4166		(335,415.00) Member	Sell
17:17:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.4166		335,415.00 Client	Buy
17:43:39	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3420		(66,710.00) Client	Sell
17:43:39	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.3420		66,710.00 Member	Buy
Total Futu	al Futures				137		54,420	54,419,500			730,761,649.50	
Total Option	tal Options				20		13,870	13,870,000			0.00	
Total for \$	/ R Foreign Exchang	je Future			157		68,290	68,289,500			1,249,695,979.50	

Page 8 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:16:17	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.3127		(1,331,270.00) Member	Sell
13:16:17	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.3127		1,331,270.00 Member	Buy
13:35:19	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3190		6,659,500.00 Member	Buy
13:35:19	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3190		(6,659,500.00) Member	Sell
13:36:48	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	4	400,000	13.3134		(5,325,360.00) Member	Sell
13:36:48	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	4	400,000	13.3134		5,325,360.00 Member	Buy
13:50:05	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.3037		1,330,370.00 Member	Buy
13:50:05	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.3037		(1,330,370.00) Member	Sell
14:34:44	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.5754		(6,787,700.00) Member	Sell
14:34:44	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.5754		6,787,700.00 Member	Buy
14:34:44	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.5755		6,787,750.00 Member	Buy
14:34:44	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.5755		(6,787,750.00) Member	Sell
14:34:44	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3386		(6,669,300.00) Member	Sell
14:34:44	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3386		6,669,300.00 Member	Buy
14:46:02	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3794		6,689,700.00 Member	Buy
14:46:02	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3794		(6,689,700.00) Member	Sell
14:49:41	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3813		6,690,650.00 Member	Buy
14:49:41	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3813		(6,690,650.00) Member	Sell
14:51:01	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.3800		(2,676,000.00) Member	Sell
14:51:01	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.3800		2,676,000.00 Member	Buy
14:58:18	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3290		(6,664,500.00) Member	Sell
14:58:18	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3290		6,664,500.00 Member	Buy
15:10:35	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.5915		(6,795,750.00) Member	Sell
15:10:35	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.5915		6,795,750.00 Member	Buy
15:10:35	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3545		(6,677,250.00) Member	Sell
15:10:35	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3545		6,677,250.00 Member	Buy
15:13:33	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3685		6,684,250.00 Member	Buy
15:13:33	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.3685		(6,684,250.00) Member	Sell
Total Futu				14		58	5,800,000			77,769,350.00	
Total Opti	ons i / R MAXI Foreign Excl	hange Future		14		58	5,800,000			77,769,350.00	
9:07:57	£ / R 19/09/2016	Foreign Exchange Future	0.00		1,000	3	3,000	17.2261		51,678.30 Member	Buy
9:07:57	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.2261		(51,678.30) Client	Sell
9:30:47	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.2600		345,200.00 Member	Buy
9:30:47	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.2600		(345,200.00) Member	Sell
10:25:33	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	17.2850		(34,570.00) Client	Sell
10:25:33	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	17.2850		34,570.00 Member	Buy
10:31:00	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	- 55	55,000	17.3273		953,001.50 Member	Buy
10:31:00	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	55	55,000	17.3273		(953,001.50) Client	Sell
10:37:03	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	17.3700		173,700.00 Member	Buy
10:37:03	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	17.3700		(173,700.00) Client	Sell

Page 9 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:40:07	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.3590		(17,359.00) Member	Sell
10:40:07	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.3590		17,359.00 Client	Buy
10:40:09	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.3555		347,110.00 Client	Buy
10:40:09	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.3555		(347,110.00) Member	Sell
10:41:18	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	14	14,000	17.3386		242,740.40 Member	Buy
10:41:18	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	14	14,000	17.3386		(242,740.40) Client	Sell
10:47:53	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	17.3772		(69,508.80) Member	Sell
10:47:53	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	17.3772		69,508.80 Client	Buy
10:53:17	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.3800		86,900.00 Client	Buy
10:53:17	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.3800		(86,900.00) Member	Sell
12:20:06	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.3199		86,599.50 Member	Buy
12:20:06	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.3199		(86,599.50) Client	Sell
12:36:21	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.3145		(51,943.50) Member	Sell
12:36:21	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.3145		51,943.50 Client	Buy
13:21:03	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.3206		(51,961.80) Member	Sell
13:21:03	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.3206		51,961.80 Member	Buy
13:21:03	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.9911		(53,973.30) Member	Sell
13:21:03	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.9911		53,973.30 Client	Buy
13:42:46	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	17.2905		34,581.00 Member	Buy
13:42:46	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	17.2905		(34,581.00) Client	Sell
13:43:16	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.2862		(17,286.20) Client	Sell
13:43:16	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.2862		17,286.20 Member	Buy
13:43:25	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.3145		(51,943.50) Client	Sell
14:54:39	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	17.2746		3,454,920.00 Member	Buy
14:54:39	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	17.2746		(3,454,920.00) Client	Sell
14:54:58	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	17.2782		(2,591,730.00) Client	Sell
14:54:58	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	17.2782		2,591,730.00 Member	Buy
14:55:13	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	17.2914		432,285.00 Client	Buy
14:55:13	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	17.2914		(432,285.00) Member	Sell
15:01:20	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.3000		(51,900.00) Member	Sell
15:01:20	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.3000		51,900.00 Client	Buy
15:31:11	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	17.4125		(174,125.00) Client	Sell
15:31:11	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	17.4125		174,125.00 Member	Buy
15:33:49	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	134	134,000	17.4425		(2,337,295.00) Member	Sell
15:33:49	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	134	134,000	17.4425		2,337,295.00 Member	Buy
15:36:48	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	17.4362		69,744.80 Member	Buy
15:36:48	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	17.4362		(69,744.80) Client	Sell
15:59:37	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.4595		(87,297.50) Member	Sell
15:59:37	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.4595		87,297.50 Client	Buy
16:28:27	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.2600		(345,200.00) Client	Sell
16:28:59	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.3555		(347,110.00) Client	Sell
16:32:45	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.4963		(349,926.00) Member	Sell
16:32:45	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	17.4963		349,926.00 Client	Buy

Page 10 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:39:33	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.4749		(87,374.50) Member	Sell
16:39:33	£/R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.4749		87,374.50 Client	Buy
16:49:13	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.4368		52,310.40 Member	Buy
16:49:13	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	17.4368		(52,310.40) Client	Sell
16:49:21	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.4368		17,436.80 Member	Buy
16:49:21	£ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.4368		(17,436.80) Client	Sell
Total Futu	ıres			30		733	732,500			12,696,585.05	
Total Opti	ons										
Total for £	E / R Foreign Exchang	ge Future		30		733	732,500			12,696,585.05	
10:36:30	¥ / R 19/09/2016	Foreign Exchange Future	0.00	1	100,000	3,015	301,500,000	0.1331		(40,123,318.50) Client	Sell
10:36:30	¥ / R 19/09/2016	Foreign Exchange Future	0.00	1	100,000	3,015	301,500,000	0.1331		40,123,318.50 Member	Buy
Total Futu	ıres			1		3,015	301,500,000			40,123,318.50	
Total Opti	ions										
Total for ¥	∉ / R Foreign Exchang	je Future		1		3,015	301,500,000			40,123,318.50	
10:07:43	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.0650		75,325.00 Member	Buy
10:07:43	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.0650		(75,325.00) Client	Sell
12:17:38	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	15.0645		(241,032.00) Member	Sell
12:17:38	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	15.0645		241,032.00 Client	Buy
12:27:39	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	15.0670		241,072.00 Member	Buy
14:32:11	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	350	350,000	15.0792		(5,277,720.00) Member	Sell
14:32:11	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	350	350,000	15.0792		5,277,720.00 Member	Buy
15:31:13	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1331		(30,266.20) Member	Sell
15:32:05	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1411		(30,282.20) Member	Sell
15:32:05	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1411		30,282.20 Client	Buy
15:33:49	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	350	350,000	15.1493		(5,302,255.00) Member	Sell
15:33:49	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	350	350,000	15.1493		5,302,255.00 Member	Buy
15:34:02	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.1331		60,532.40 Member	Buy
15:34:02	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.1331		(60,532.40) Client	Sell
15:35:16	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.1574		(2,273,610.00) Member	Sell
15:35:16	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.1574		2,273,610.00 Member	Buy
15:50:05	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.1871		(2,278,065.00) Member	Sell
15:50:05	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.1871		2,278,065.00 Member	Buy
15:50:05	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.5284		(2,329,260.00) Member	Sell
15:51:20	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.5283		(3,882,075.00) Member	Sell
15:55:47	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.5320		(3,883,000.00) Member	Sell
15:57:15	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.5287		(3,882,175.00) Member	Sell
15:59:37	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	21	21,000	15.5200		(325,920.00) Member	Sell
15:59:37	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	21	21,000	15.5200		325,920.00 Client	Buy
16:06:39	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.5293		(1,552,930.00) Member	Sell

Page 11 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ S	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:24:36	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	15.5344		(15,534,400.00) Member	Sell
16:24:36	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	15.5344		15,534,400.00 Client	Buy
16:40:28	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	350	350,000	15.1686		5,309,010.00 Member	Buy
16:40:28	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	350	350,000	15.1686		(5,309,010.00) Member	Sell
16:41:39	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	32	32,000	15.2068		486,617.60 Member	Buy
16:48:49	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	15.1597		45,479.10 Member	Buy
16:48:49	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	15.1597		(45,479.10) Client	Sell
16:58:52	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	32	32,000	15.2068		(486,617.60) Client	Sell
Total Futu	res				17		2,942	2,942,000			45,140,637.40	
Total Opti	ons											
Total for €	/ R Foreign Exchange	Future			17		2,942	2,942,000			45,140,637.40	
12:25:41	AU\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.4600		52,300.00 Client	Buy
12:25:41	AU\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.4600		(52,300.00) Member	Sell
15:08:39	AU\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.2817		1,028,170.00 Member	Buy
15:08:39 15:09:50	AU\$ / R 19/09/2016	Foreign Exchange Future		0.00	1 1	1,000 1,000	100 100	100,000 100,000	10.2817 10.2866		(1,028,170.00) Member	Sell
15:09:50	AU\$ / R 19/09/2016 AU\$ / R 19/09/2016	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	100	100,000	10.2866		1,028,660.00 Member (1,028,660.00) Member	Buy Sell
Total Futu	·	r orongm Exomanigo r ataro		0.00	3	1,000	205	205,000	.0.2000		2,109,130.00	
					3		205	205,000			2,109,130.00	
Total for A	ons .U\$ / R Foreign Exchai	ago Euturo			3		205	205,000			2,109,130.00	
13:08:32	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	2,200	2,200,000	10.4075		(22,896,500.00) Member	Sell
13:08:32	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	185	185,000	10.4075		1,925,387.50 Member	Buy
15:17:48 15:17:48	CAD/ R 19/09/2016 CAD/ R 19/09/2016	Foreign Exchange Future Foreign Exchange Future		0.00	1 1	1,000 1,000	805 50	805,000 50,000	10.4075 10.4075		8,378,037.50 Client 520,375.00 Client	Buy Buy
15:17:48	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1,104	1,104,000	10.4075		11,489,880.00 Client	Buy
15:17:48	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4075		520,375.00 Member	Buy
15:17:48	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	56	56,000	10.4075		582,820.00 Member	Buy
15:17:48	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	185	185,000	10.4075		1,925,387.50 Client	Buy
15:17:48	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1,104	1,104,000	10.4075		11,489,880.00 Member	Buy
15:17:48	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	805	805,000	10.4075		8,378,037.50 Member	Buy
15:17:48	CAD/ R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	56	56,000	10.4075		582,820.00 Client	Buy
Total Futu					6		3,300	3,300,000			34,344,750.00	
Total Opti	ons											
Total for C	CAD/ R Foreign Exchar	nge Future			6		3,300	3,300,000			34,344,750.00	
9:40:09	QUANTO € / \$ 19/09/20	Foreign Exchange Future		0.00	1	10,000	1,328	13,280,000	1.1272		(14,969,216.00) Client	Sell
9:40:09	QUANTO € / \$ 19/09/20	Foreign Exchange Future		0.00	1	10,000	1,328	13,280,000	1.1272		14,969,216.00 Member	Buy
10:36:30	QUANTO € / \$ 19/09/20	Foreign Exchange Future		0.00	1	10,000	13	130,000	1.1277		(146,601.00) Client	Sell

Page 12 of 13 2016/08/16, 06:12:57PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:36:30	QUANTO € / \$ 19/09/20	Foreign Exchange Future		0.00	1	10,000	13	130,000	1.1277		146,601.00 Member	Buy
Total Futu	res				2		1,341	13,410,000			15,115,817.00	
Total Option	ons											
Total for QUANTO € / \$ Foreign Exchange Future							1,341	13,410,000			15,115,817.00	
Total Futu	res				209		66,013	382,309,000			958,061,237.45	
Total Option	ons				20		13,870	13,870,000			0.00	
Grand Total for all Instruments			229				396,179,000	1,476,995,567.45				